Friday 26th February – Josh’s Toys
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LI: To sodve problems by finding the patterm.
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We do...

Lets start by finding a small amount of
Aonys. Homw about finding 3.
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What about 5.
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TV, pencid, AE (pencil and Aoy bunny)

batd, bak, Lo | Be (pencid and bald

bamnny BD (pencid and bad)
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CD (hall and bad)
CE (ball and Aoy bunny
DE (bat and Aoy bunny)
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You do...
Josh's toys 9

Sosh wants o pack his toys amay. How many differert
possibilities does he have to pack his 10 toys n pairs?
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Spot Ahe difference!





image3.png
. ‘

Ginve an M/p/{am,a/l‘/bom /fc/r mhat /\Arﬂxr/k/i/n/q
systematicaty means Ao yon.




image4.png
The
ProhbAlem

Josh's toys @

osh wans ko pack his koys away. How many different
possibilities does he have to pack his 10 toys in pairs?

@ o

0 ¥ 4 ,

Number Pairs Total
of toys
. moec ol e
acw

v




